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AT ¢ Attempt all the five questions selecting one question from each unit. All question

carry equal marks.
ZH1E | (Unit )
1)eeTg & F4r 3P § ? daeg & e gt & @8 7 avfla HieD

What do you understand by the term Cost ? Explain in short different elements of cost .
HAY4GT OR
Afaf@a & ae & 3 g e veufa arr AR vew ATl &1 W A9 @ar

FATST : Show the stores ledger account of X material issued on LIFO method from the following :

Date oifST Receipt fRTAT Issues
Qty.(kg) Rate per kg Date Qty.(kg)
March 1( Balance) | 200 5 March 5 150
March 10 100 6 March 12 100
March 15 400 7 March 18 200
March 22 200 8 March 20 100
March 30 250

107 Y 57 A 718 5 freramA anTlt ANgeT o8 7 @ 14 AT F a9F W T
RT G & FA dlds & ®ROT 30 AT FF AT Fel W 2 fharas awEr 310w a8

'-'T? I 5 kg of material purchased on 10 march were found to be defective and returned to vendors on
14 march , 2 kg were found to be surplus on checking on 30" march due to short weighing of material

issued.

SH1S 11 (Unit )

2)UF FRTR F UF HIT HRY 26 €Y F G FAT IAT 37 FE F AGF qAG 40 6 U1
Fur &fAF #r 10 3 9fa ger fear ar FRaen 39Rea AE 79T & 80 % X 1) g
A aur 2 ) VA QAT F HAT HAF T FA 39T, FAEAS B

FUd aUr 9 geT WHIERer 3916t &Y A fifordr
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In a factory one week order was completed in 26 hours. The standard time for this work was 40 hours
and the worker was paid at Rs. 10per hour. Factory overhead charges were 80% of standard time . Find

out workers total earnings, employer savings and effective earnings rate per hour under 1) Halsey plan
and 2) Rowan plan.

YAl OR

&mmhﬁ.#m#ﬂrmhﬂ%ﬁﬁﬁﬁaawﬁamwmmm@mm

Her T Ad PG Compute the machine hour rate for a machine purchased from Precision
Machine Ltd. To cover the following overhead expenses:

s &1 R 7 ganr &Y ST - faET #1174 Rent of the department ( Space 6000

occupied by the machine % of the department)

yarer ( fsmr & cafdaat & dear 15) A0 W 3 fFd T@A AT Blighting ( 2500
Number of men in the department 15) 3 men are engaged on the machine

@Ar ( aeaf@@ ) Insurance ( Actual ) 600
'3_13'5’ J& 9 fafdwr Cotton waste, oil and sundries 400
PRI @ AqA( 37 FFT F 1/3 6T AW Zanr fAmr T § 7 v @ wde | 35830

CART HHT Hegard #) Salary of foreman (One third of their time is occupied by the
machine and the remainder equally by other machines )

M 50000 T F 4 Y 7E T IAAT Feq 4000 F ¥ IHH AT Sfaet Frew 10 af @

The machine was purchased for Rs. 50000 and its estimated scarp value was Rs. 4000; its estimated
working life was 10 years.

IGOIG 31?_1313 ¥ I AT 4T £ Itis assumed from past experience :

1) & #0er ufd af 2300 € FH FEW that the machine will work for 2300 hrs. Per annum.

2) %Wamﬁmmﬁ1nm$%mm3hﬂmag15
&Y ofy 35 T ¥ 5 sFS iy der afFd 39T FEN That it will necessitate

expenditure of Rs. 17250 towards repairs and maintenance, throughout its working life and that
it consumes S units of power at a cost of 15 paise per unit, per hour.

FH1E 111 (Unit 11)

3)frafAf@d & IR W $ 9gFd FHA A ARSI : Find out the value of Raw
Materials Consumed from the information given below :

FWWZOOO F.WW@WWWBO% g FRET
39fteas, FRTed 3UReTT F 150% ¢ aUT 9GFd @HA 3EH Fogy # 25% &
Total cost of production Rs. 2000: Work cost is 80% of total cost of production: Factory

overhead is 150% of office overhead and the value of Raw Material Consumed is 25% of
productive wages.

AG4AQr OR
Ueh el & 3T & 1 30 2020 F YF FA7 39 &F W Aifva =ag & :a

contractor took up a contract on 1sssssssst April 2020 . The following were the expenses
incurred on the contract :
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&% & v @l A5 Material sent to site 50000
THIT Plant 11000

La?ﬁ Salary 2000
A Wages 6000
A =T Other Expenses 2000

A3 WIS 64000 T : g SO HT 1 80% & 31 AT 2010 F HWAMOIT & H
AR 1000 ¥ o : whic T AHAT AT F Z@RT AT FAA: 1000 @ 10000 H AR
& & T e AR 3000 F o AT AT 10% ¥ Ofef@a e & T
¥ T gIoT AT FT 1/3 TG AT & 5F @ar dasv R I Aizw A arg w1

Rz & & fe@rr AT Cash received Rs. 64000 was 80% of work certified. As on 31-3-

2010, the cost of uncertified work was Rs. 1000, the cost of plant and material destroyed by fire
were Rs. 1000 and Rs. 10000 respectively and the wages unpaid were Rs. 3000. Plant is to be
written off @ 10%. One third of profit received is to be reserved for contingencies. Prepare
contract account and show how work in progress would appear in Balance Sheet.

HS 1V(Unit IV)
ATEH T 3R &Y Afe frat ¥ 3wt aar R afR # 3a@es, s g
INAE FH i g ufrar Fr Fodt aFadr aaar & T3 I Fras &

WY AT AT ST § : A work order passes through two distinct processes. The product of the

first process, less wastage and by product, becomes the raw material for the second process. All
by products are sold off direct from the factory.

FRU & Q@ § A= HaaT W & 1% § : The following information is obtained from the

factory record :
WA UFHAT first process | R 9fdar second process
Fedl FrHA Raw Material 1000 ton at Rs. 30 per -
ton
HoTedl Wages Rs. 25000 Rs. 20000
FREAT IUNEAT Factory Overhead | 80% of wages 75% of wages
87T Wastage 10Ton 15 Ton
Iarcre 1 T Sale of by products | 190 Ton sold at cost plus | 85 Ton sold at cost plus 25%
20%

mwf%maﬁﬁauﬁm*ﬁvsﬁwuﬁwﬁmﬁmam-m%

g @ g @ F @ §U I3V : Give the ledger accounts for the first and second

processes showing at each stage the cost of the product and the profit on the sale of the by —
product.

AYArT OR

mmmmmmmmﬁ?mm*mm.
Tea sw &fF &1 g2 S smar & 2
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What is operating cost? What are its objects? State the undertakings where it is to be

used ?
ST V (Unit V) |
s\l aut & @Rt ane 3@ vd i o F 3R @ AW AT & & |

R F1 A PR : Find out the as per costing records and financial accounts from the
following information and reconcile the results :

Product A Product B
IHISAT AT 7S No. of units produced and sold 600 Units 400 Units
el TTaT WHA total Direct Materials Rs. 3600 Rs. 2800
FT YcU&T HH Total Direct wages Rs. 3000 Rs. 2400
fasna H{er ufd §&1g Selling price per unit Rs. 25 Rs. 30

FRAET 3URTT {F AR F 60% T FATTT 3INCTT FRAET 3R F 40% A0
AT ¥ IS FRTET AT 4500 F JUT FRATAT 4T 3900 T TRNS Jur AT wie

T & : Works overhead is charged at 60% of prime cost and office overhead at 40% of works overhead.

Actual works expenses amounted to Rs. 4500 and office expenses Rs. 3900. There were no opening or
closing stock.

OR

HagH Aaor @ wa R € The necessary particulars are as follows :

ay Year AFT Sales W Profit
2013-14 120000 9000
2014-15 140000 13000

T A U & va ad F aera o fehr et F A oRade @@ o ¢ efefaa &
TroTaAT HIFSA Assuming that the cost structure and selling prices remain the same in 2013-14 and 2014-
15, Find out

1) W AET I Profit volume Ratio

2) fashr & fav waAfaede &g B.E.P. for sales

3) 100000% Hr f&Fr 9T FTH Profit at the sales of Rs. 100000

4) 20000% ST IS A F AT AT Sales required to earn a profit at Rs. 20000
5) a¥2014-15 F GI&IT H WA Margin of safety in 2014-15

ocanned with Camscanne



